
accessories and fittings

t 00 31 512 - 36 91 60   !"# 00 31 512 - 36 42 44   internet: www.spinder.nl   e-mail: sales@spinder.nl

14

item-no.
N*"#(/'&;1

Size A x B
BHDBHDBBE 34 x 34 mm (TG245)
BHDBHDBCB 48 x 48 mm 
BHDBHDBCE 48 x 60 mm
BHDBHDBGB 76 x 48 mm

=.4#(/'&;1

D&)$%12<'*3+$-_/2)#$234$)&/34$,/0*3+7

5*m#

BHDGGDBKE$ $70 . . . 80 x 60 mm
BHDGGDBLB 60 x 102 mm
BHDGGDBLE 60 x 114 mm

<%"&1(/'&;1

n#%&<<#34#4$ .&)$<&/3,*3+$ -"&/14#)$ )2*1-$ ,&$

.)##-,211-7

Size A x B
BHDBJDBCB 48 x 48 mm
BHDBJDBGB 48 x 60 mm
BHDBJDBGE 60 x 60 mm
BHDBJDBFB 76 x 48 mm
BHDBJDBHB 76 x 60 mm
BHDBJDBEB 89 x 48 mm
BHDBJDBKB 89 x 60 mm

=O"##P1&"%(1&"&''#'(/'&;1

5*m#

BHDCKDBCB 48 x 48 mm
BHDCKDBGB 48 x 60 mm
BHDCKDBFB 60 x 60 mm

T"5$$(/'&;1

5*m#

BHDBLDBCB 48 x 48 mm
BHDBLDBGB 48 x 60 mm
BHDBLDBFB 60 x 60 mm

<O5.')#"("&*'($%"&1(/'&;1

Specifically made for mounting the shoulder rail to 
-/-'#34#4$.)##-,211-@

Size A x B
BHDBIDBHJ 48 x 48 mm
BHDBIDBEB 48 x 60 mm

6

Q

T*)#$%12<'

G)&--$%12<'

!")##H'2),

'2)211#1$%12<'

!/0#$%12<'

5,)2'$%12<'

5"&/14#)$)2*1$-,)2'$%12<'

6

Q

6

Q



accessories and fittings

t 00 31 512 - 36 91 60   !"# 00 31 512 - 36 42 44   internet: www.spinder.nl   e-mail: sales@spinder.nl

15

item-no.
=.4#(/'&;1(/5.1'*-9

Specially designed tube clamp coupling for extra 
-,/)4*3#--9$ #7+7$ .&)$<&/3,*3+$ -"&/14#)$ )2*1-$ ,&$

-/-'#34#4$.)##-,211-7

5*m#

BHDGCDBCE$ D&)$,/0#$SL$<<

BHDGCDBGB$ D&)$,/0#$ZO$<<

<%##'(/5.1'*-9(.-*%

5,##1$%&/'1*3+$/3*,$,&$%&33#%,$,/0*3+7

5*m#

BHDGBDBCE$ D&)$,/0#$SL$<<

BHDGBDBGB$ D&)$,/0#$ZO$<<

BHDGBDBGE$ D&)$,/0#$KZ$<<

?-)(/5.1'*-9

For mounting tubing to the wall or the floor, e.g. 
.&)$<&/3,*3+$3#%;$)2*1$,&$2$?2117

5*m#

BHDGHDBCE$ D&)$,/0#$SL$<<

BHDGHDBGB$ D&)$,/0#$ZO$<<

?-)(/5.1'*-9V(&)Z.$%&4'#

D&)$24>/-,201#$<&/3,*3+$&.$,"#$-"&/14#)$)2*1$,&$,"#$

?211$0($<#23-$&.$2$?*)#$%12<'$&)$%)&--$%12<'7

5*m#

BHDGHDCCE 48 mm x 35 cm

!*%%*-9$
BHDBLDBCB Cross clamp 48 x 48 mm
BHDBHDBCB Wire clamp 48 x 48 mm

?M%#-)#)(#-)(/5.1'*-9

BHDGHDGCE$$ D&)$<&/3,*3+$2$-"&/14#)$)2*1$,&$23$#34$?211$?"*%"$

*-$'&-*,*&3#4$1&?#)7

!*%%*-9$(05"(&''(#-)(/5.1'*-9$

CCDCCDGCB Floor anchor M10 x 71 (2 per strip)

=35P1&"%(=P/'&;1

Size A x B
BHDCGDBCB 34 x 48 mm
BHDCGDBGB 48 x 48 mm
BHDCGDCFB 48 x 60 mm
BHDCGDBHB 48 x 76 mm
BHDCGDCKB 60 x 60 mm (TJ210)
BHDCGDCJB 60 x 76 mm (TJ210)

=35P1&"%(=P/'&;1V(O#&+:(+#"$*5-

Particular solid T-clamp with two bolts for an extra 
-,/)4($%&3-,)/%,*&37

Size A x B
BHDCFDBCE 48 x 48 mm
BHDCFDBGB 48 x 60 mm
BHDCFDBFB 60 x 60 mm
BHDCFDBHB 60 x 76 mm

!5."P3&:(/'&;1

Size A x B x C
BHDCGDBGE 48 x 48 x 48 mm
BHDCGDBFB 48 x 60 x 48 mm
BHDCGDBFE 48 x 76 x 48 mm
BHDCFDBFE 60 x 60 x 60 mm
BHDCFDBHE 60 x 76 x 60 mm

!/0#$%12<'$%&/'1*3+

5,##1$%&/'1*3+$/3*,

Q4>/-,201#

#34$%&/'1*3+

Q

6

!?&H'2),$!H%12<'

"#2E($E#)-*&3

Q

6

D&/)H?2($%12<'
G

6

Q

Extended
#34$%&/'1*3+

N
U
$%
<

N
U
$%
<

YJ$%<

]34$%&/'1*3+

!?&H'2),

!H%12<'



accessories and fittings

t 00 31 512 - 36 91 60   !"# 00 31 512 - 36 42 44   internet: www.spinder.nl   e-mail: sales@spinder.nl

15
"

!?&H'2),$!H%12<'9

<&4#1$D)*-*2

Q

6

D&/)H?2($%12<'9

<&4#1$D)*-*2

G

6

Q

item-no.
?M%#-)#)(#-)(/5.1'*-9

D&)$<&/3,*3+$2$-"&/14#)$)2*1$,&$23$#34$?211$?"*%"$

*-$'&-*,*&3#4$1&?#)7$

5*m#

BHDGHDGCE$$ D&)$SL$<<$,/0#$`-,)*'$1#3+,"$SC$%<a

!*%%*-9$
CCDCCDGCB Floor anchor M10 x 71 (2 per strip)

=35P1&"%(=P/'&;1V(;5)#'(!"*$*&

Size A x B
BHDCFDBFG 60 x 60 mm
BHDCFDBHG 60 x 76 mm

!5."P3&:(/'&;1V(;5)#'(!"*$*&

Size A x B x C
BHDCFDBFI 60 x 60 x 60 mm
BHDCFDBHI 60 x 76 x 60 mm



accessories and fittings

t 00 31 512 - 36 91 60   !"# 00 31 512 - 36 42 44   internet: www.spinder.nl   e-mail: sales@spinder.nl

16

6?("#%&*-*-9(8-##("&*'

Q3$*4#21$-&1/,*&39$,&$')#E#3,$,"#$%&?-$.)&<$+&*3+$,&&$.2)$,&$,"#$

.)&3,$*3$,"#$-,2119$*-$,&$*3-,211$2$'&1(#,"#1#3#$`M]a$;3##$)2*17

!"#$M]$;3##$)2*1$+/*4#-$,"#$23*<21$*3,&$,"#$'#).#%,$'&-*,*&3$?"#3$

12(*3+$4&?37$Q-$2$)#-/1,$,"#$23*<21-$?*11$-,234$/'$?*,"$<&)#$#2-#$

234$,"#$-,211-$?*11$-,2($</%"$%1#23#)7$!"#$%&?-$%23$-,)#,%"$,"#*)$

.)&3,$1#+-$%&<.&),201($&E#)$,"#$)2*1$?"*%"$"2-$2$4*2<#,#)$&.$NCJ$

mm. The characteristic of polyethelene that it will stay flexible,
')#E#3,-$,"#$;3##$)2*1$.)&<$0)2;*3+7

T*,"$,"#$<2>&)*,($&.$,"#$.)##$-,211$4*E*4#)$<&4#1-9$,"#$M]$;3##$)2*1$

%23$0#$<&/3,#4$?*,"$2$;3##$)2*1$-/''&),9$?"*%"$%23$0#$24>/-,#4$

2.,#)$*3-,2112,*&3$&.$,"#$4*E*4#)-7$!"#$;3##$)2*1$244-$*3$,"*-$?2($

244*,*&321$-,/)4*3#--$,&$,"#$-,)/%,/)#$&.$4*E*4#)-7$!"#$;3##$)2*1$%23$

be mounted directly to the concrete floor as well, with a special 
<&/3,*3+$%1*'$cNCJ$<<7

,;15"%&-%(/O&"&/%#"*$%*/$A
• PE stays flexible, therefore very durable;
•$ n&0/-,9$<2,#)*21$,"*%;3#--$K7S$<<d
•$ n&/34$-"2'#d$4&#-$3&,$'*3%"$*3$,"#$1#+-d
•$ M)&E*4#-$244*,*&321$-,/)4*3#--$̀ ?"#3$<&/3,*3+$;3##$)2*1$,&$,"#$
.)##-,211$4*E*4#)ad$

•$ G23$0#$/-#4$?*,"$211$;*34-$&.$0#44*3+$<2,#)*21-d
•$ Q4>/-,201#$`?"#3$<&/3,*3+$;3##$)2*1$,&$,"#$.)##-,211$4*E*4#)ad

BCDJBDFEB$ M]NCJ$;3##$)2*19$1#3+,"$Z$<

BCDJBDFEG$ G&/'1*3+$.&)$M]NCJ$;3##$)2*1

BCDJBDFKB$ V&/3,*3+$%1*'$.&)$;3##$)2*1$M]NCJ

BCDJBDFHE$ W3##$)2*1$-/''&),$.&)$M]NCJ9$.&)$.)##-,211$4*E*4#)$

model 'Comfort' and 'Profit'
BHDCLDGGE$ V&/3,*3+$%1*'$cNCJ$<<$`-,2342)4$<&4#1a

CCDCCDGCB Floor anchor M10 x 71 (2 pc. per mounting clip)

^#%&*-#"(4#'%(05"(0"##$%&''()*+*)#"$

Q$3(1&3$)#,2*3#)$0#1,$*3-,#24$&.$2$-"&/14#)$)2*1$,&$

'&-*,*&3$,"#$23*<217$l,$')#E#3,-$,"#$%&?$.)&<$)&/+"$

%&3,2%,$?*,"$ ,"#$-"&/14#)$ )2*17$!"#$ )#,2*3#)$0#1,$

*-$<&/3,#4$,&$#2%"$.)##-,211$4*E*4#)$?*,"$%12<'-$

-'#%*21$4#-*+3#4$.&)$,"*-$')&4/%,7

BCDJBDHBB$ n#,2*3#)$0#1,$JO$<<9$NOO$<$)&11

BCDJBDHBE$ n#,2*3#)$0#1,$JO$<<9$JO$<$)&11

BCDJBDHGB$ 6#1,$%12<'$.&)$<&/3,*3+$&3$'12,#$%12<'$̀ 0&1,-$234$

3/,-$2)#$*3%1/4#4a

BHDBIDBEE$ 5"&/14#)$)2*1$-,)2'$%12<'$?*,"$244*,*&321$"&1#-$.&)$

<&/3,*3+$,"#$)#,2*3#)$0#1,$

BCDJBDHGE$ 6#1,$%12<'$.&)$ZO$<<$,/0*3+$`,")#2,#4$-,)2'-$234$

3/,-$2)#$*3%1/4#4a

!&$%#-#"(05"("#%&*-#"(4&"
at the rear edge of the stall floor

BCDJBDCEB$ D2-,#3#)$.&)$)#,2*3#)$02)$SL$<<

BCDJBDGBB$ D2-,#3#)$.&)$)#,2*3#)$02)$ZO$<<

BCDJBDGEB$ D2-,#3#)$.&)$)#,2*3#)$02)$KZ$<<

CCDCCDGGB Floor anchor bolt M10 x 86 (2 per fastener)

n#,2*3#)$02)$̀ ,/0#$?*,"$)#4/%#4$#34$'2),a9$?&);*3+$

1#3+,"$J7UO$<

CBDCEDKCB$ R*2<#,#)$SL$<<

CBDGBDKCB$ R*2<#,#)$ZO$<<

CBDGEDKCB$ R*2<#,#)$KZ$<<

item-no.

D2-,#3#)-$.&)$)#,2*3#)$02)

V&/3,*3+$%1*'$.&)$;3##$)2*1$M]NCJ Knee rail support for 'Comfort' and 'Profit'

n#,2*3#)$0#1,$&3$-"&/14#)$)2*1$-,)2'$%12<' n#,2*3#)$0#1,$&3$ZO$<<$,/0*3+

OS7OK7OJJ

ON7UO7SCO
ON7UO7SCJ



accessories and fittings

t !!"#$"%$&"'"#(")$"(!   *+, 00 31 512 - 36 42 44   internet: www.spinder.nl   e-mail: sales@spinder.nl

$(
+

!"#$%&"'()"*#(+%#,($-./0#$)*"("&-(12/3*%&4

5678579:5

5678579:5

!"#$%&"'()"*#(2&(&"+
0,2/*-"'('$%*(0#'$3(1*$;3
<5678579:5(2&(5975=75>>?

!"#$%&%&'()"*#(+,-(+-"".#$**.

@('"#$%&"'()"*#(1$&()"(%&0#$**"-(2&($**(A'""0#$**(-%B%-"'0C(12&0#'/1#"-(
from 60 mm tubing. The figures shows how to mount the retaining 
)"*#(#2(#,"(A'""0#$**(-%B%-"'7(
D,"&($*'"$-E(%&0#$**"-($&-(#,"(0,2/*-"'('$%*(,$0()""&(;2/&#"-(
with a shoulder rail strap clamp, it is sufficient to order the retainF
%&4()"*#($&-(2&"()"*#(1*$;3(<5678579:5?(3"'(A'""0#$**(-%B%-"'7(D,"&(
%&0#$**%&4(2&"(&""-0(#2(-'%**(#+2(,2*"0(%&((#,"(0,2/*-"'('$%*(0#'$3(
1*$;3($*'"$-E(%&(3*$1"7
G&($(&"+(0%#/$#%2&(2'(+,"&('"&2B$#%&4(2&"(0,2/*-(2'-"'(#,"(0,2/*F
-"'('$%*(0#'$3(1*$;3(%&(+,%1,(#,"(,2*"0(A2'(%&0#$**%&4($('"#$%&"'()"*#(
$'"($*'"$-E(-'%**"-7(H'2-/1#(&27(5975=75>>7
G&(#,"("B"&#(#,$#(#,"(0,2/*-"'('$%*(,$0()""&(;2/&#"-(+%#,(./0#(
$(0#'$3(1*$;3(+%#,2/#($(3*$#"C(#,"(3*$#"(1*$;3(5678579:>(1$&()"(
/0"-7
D,"&(/0%&4($&($-./0#$)*"("&-(12/3*%&4(A2'(;2/&#%&4(#,"(0,2/*-"'(
'$%*(#2(#,"(+$**C((2&"(1$&(0%;3*E($##$1,(#,"('"#$%&"'()"*#(2&(#,%0(
coupling (see figure). Two belt clamps per adjustable end coupling 
<5678579:5?($'"('"I/%'"-7

!"#$%&"-()"*#(+,-(+-"".#$**(/%0%/"-.

@(&E*2&('"#$%&"'()"*#(%&0#"$-(2A($(0,2/*-"'('$%*(#2(
320%#%2&(#,"($&%;$*7(G#(3'"B"&#0(#,"(12+(A'2;('2/4,(
12&#$1#(+%#,( #,"(0,2/*-"'( '$%*7(J,"( '"#$%&"'()"*#(
%0(;2/&#"-(#2("$1,(A'""0#$**(-%B%-"'(+%#,(1*$;30(
03"1%$*(-"0%4&"-(A2'(#,%0(3'2-/1#7

123413511( !"#$%&"'()"*#(>5(;;C(655(;('2**
123413516( !"#$%&"'()"*#(>5(;;C(>5(;('2**
123413571( K"*#(1*$;3(A2'(;2/&#%&4(2&(3*$#"(1*$;3(<)2*#0($&-(

&/#0($'"(%&1*/-"-?
153183166( L,2/*-"'('$%*(0#'$3(1*$;3(+%#,($--%#%2&$*(,2*"0(A2'(

;2/&#%&4(#,"('"#$%&"'()"*#
123413576( K"*#(1*$;3(A2'(M5(;;(#/)%&4(<#,'"$#"-(0#'$30($&-(

&/#0($'"(%&1*/-"-?
123413521( N/%1OF'"*"$0"(A$0#"&"'(A2'('"#$%&%&4
123413529( P2/&#%&4(,22O(A2'('"#$%&%&4()"*#
123413526( K/1O*"(A2'('"#$%&%&4()"*#

item-no.

!"#$%&"'()"*#(2&("Q%0#%&4
0,2/*-"'('$%*(0#'$3(1*$;3
<5678579:5(2&(5975=7777?

5678579:>

!"#$%&"'()"*#(2&(M5(;;(#/)%&4



accessories and fittings

t 00 31 512 - 36 91 60   !"# 00 31 512 - 36 42 44   internet: www.spinder.nl   e-mail: sales@spinder.nl

16
&

6?("#%&*-*-9(8-##("&*'

Q3$*4#21$-&1/,*&39$,&$')#E#3,$,"#$%&?-$.)&<$+&*3+$,&&$.2)$,&$,"#$

.)&3,$*3$,"#$-,2119$*-$,&$*3-,211$2$'&1(#,"(1#3#$`M]a$;3##$)2*17

!"#$M]$;3##$)2*1$+/*4#-$,"#$23*<21$*3,&$,"#$'#).#%,$'&-*,*&3$?"#3$

1(*3+$4&?37$Q-$2$)#-/1,$,"#$23*<21-$?*11$-,234$/'$?*,"$<&)#$#2-#$

234$,"#$-,211$?*11$-,2($</%"$%1#23#)7$P3,*1$2$4*2<#,#)$&.$%27$NJOH

NZO$<<$,"#$%&?-$%23$-,)#,%"$,"#*)$.)&3,$1#+-$%&<.&),201($&E#)$

the rail. The characteristic of polyethylene that it will stay flexible, 
')#E#3,-$,"#$;3##$)2*1$.)&<$0)#2;*3+7

!"#$M]$)#,2*3*3+$;3##$NCJ$%23$0#$<&/3,#4$?*,"$2$;3##$)2*1$-/'H

'&),9$?"*%"$%23$0#$24>/-,#4$2.,#)$*3-,2112,*&3$&.$,"#$4*E*4#)-7$!"#$

;3##$)2*1-$244-$*3$,"*-$?2($244*,*&321$-,/)4*3#--$,&$,"#$-,)/%,/)#$

&.$4*E*4#)-7$!"#$;3##$)2*1$%23$0#$<&/3,#4$4*)#%,1($,&$,"#$%&3%)#,#$

floor as well, with a special mounting clip.

,;15"%&-%(/O&"&/%#"*$%*/$A
• PE stays flexible, therefore durable;
•$ n&0/-,9$<2,#)*21$,"*%;3#--$K7S$H$U7J$<<d
•$ n&/34$-"2'#9$4&#-$3&,$'*3%"$*3$,"#$1#+-d
•$ M)&E*4#-$244*,*&321$-,/)4*3#--$̀ ?"#3$<&/3,*3+$;3##$)2*1$,&$,"#$
.)##-,211$4*E*4#)ad

•$ G23$0#$/-#4$?*,"$211$;*34-$&.$0#44*3+$<2,#)*21-d
•$ Q4>/-,201#$`?"#3$<&/3,*3+$;3##$)2*1$,&$,"#$.)##-,211$4*E*4#)ad

6?CGE(8-##("&*'(P(;&%#"*&'(%O*/8-#$$(IDH(;;

BCDJBDFEB$ M]NCJ$;3##$)2*19$1#3+,"$Z$<

BCDJBDFEG$ G&/'1*3+$.&)$M]NCJ$;3##$)2*1

BCDJBDFKB$ V&/3,*3+$%1*'$.&)$;3##$)2*1$M]NCJ

`N$<&/3,*3+$%1*'$'#)$N7NO$H$N7CJ$<a

CCDCCDGCB Floor anchor M10 x 71 (2 per mounting clip)
BCDJBDFHE$ W3##$)2*1$-/''&),$.&)$M]NCJ9$.&)$.)##-,211$4*E*4#)

model 'Comfort' and 'Profit'
BCDJBDFIB$ ]34$%&/'1*3+$.&)$M]NCJ

CCDCCDGCB Floor anchor M10 x 71 (2 per end coupling)

6?CKB(8-##("&*'(P(;&%#"*&'(%O*/8-#$$(JDE(;;

BCDJBDFEE$ M]NZO$;3##$)2*19$1#3+,"$Z$<

BCDJBDFEH$ G&/'1*3+$.&)$M]NZO$;3##$)2*1

BCDJBDFKG$ V&/3,*3+$%1*'$.&)$;3##$)2*1$M]NZO

`N$<&/3,*3+$%1*'$'#)$C7CO$H$C7JO$<a

CCDCCDGCB Floor anchor M10 x 71 (2 per mounting clip)

^#%&*-*-9(8-##("&*'($.115"%

!&$*3-,211$2$`?&&4#3a$)#,2*3*3+$;3##$)2*17

n#,2*3*3+$;3##$)2*1$-/''&),$.&)$.)##-,211$4*E*4#)@

BCDJBDFGB Model 'Comfort' and 'Profit', 60 mm
BCDJBDFCE$ n#,2*3*3+$;3##$)2*1$-/''&),$.&)$.)##-,211$4*E*4#)-$.&)$

youngstock: Model 'Comfort' and 'Profit', 48 mm

item-no.

• Knee rail support for PE125, 'Comfort' and 'Profit'•$ ]34$%&/'1*3+$.&)$M]NCJ

•$ V&/3,*3+$%1*'$.&)$;3##$)2*1$M]NCJ9$NZO • Knee rail support for 'Comfort' en 'Profit'



accessories and fittings

t 00 31 512 - 36 91 60 !"# 00 31 512 - 36 42 44 internet: www.spinder.nl   e-mail: sales@spinder.nl

17

item-no.
<O5.')#"("&*'("&*$#"

5&1*4$%&3-,)/%,*&3$,&$)2*-#$,"#$-"&/14#)$)2*17

•$ Q4>/-,201#$*3$"#*+",$.)&<$OHNO$%<d
•$ R#-*+3#4$.&)$,"#$-/-'#34#4$.)##-,211$4*E*4#)d
•$ C$,")#24#4$-,)2'-$2)#$*3%1/4#4d

BCDJBDEBB$ 5"&/14#)$)2*1$)2*-#)$NO$%<

=P45'%

!H0&1,$VNZ$?*,"$3/,9$ .&)$<&/3,*3+$-/''&),$'&-,

onto grid floor.
CCDCBDFBB Size 28 x 25 cm

=O"#&)#)($%"&1

!")#24#4$-,)2'$VNO9$+21E23*m#49$3/,-$*3%1/4#47

Size A x B
BHDEFDBKE 34 x 65 mm
BHDEFDBLE 34 x 85 mm
BHDEEDBIE 48 x 75 mm
BHDEKDBJB 60 x 90 mm
BHDEIDGEB 76 x 105 mm
BHDKKDBJB$ $60 x 90 mm
BHDLBDCCB$ $80 x 110 mm

25.-%*-9(/'*1

BHDCLDBCB$ YS$<<

BHDCLDBCE$ SL$<<

BHDCLDBGB$ ZO$<<

BHDCLDBGE$ KZ$<<

BHDCLDBFB$ LU$<<

BHDCLDBEB$ NOC$<<

BHDCLDBEE$ NOL$<<

BHDCLDBHB$ NNS$<<

BHDCLDBKB$ $60 x 60 mm
BHDCLDBLB$ $80 x 80 mm
BHDCLDCCB$ $80 x 120 mm

@-9'#($.115"%

For fastening wooden front to the floor, etc.

BHDGLDCBB Size 10 x 14 cm

T5--#/%*-9(1*#/#(05"(355)#-(1&"%$

BGDJKDBFB$ D&)$%&33#%,*3+$?&&4#3$'2),-$/34#)3#2,"$,"#$.##4$

.)&3,7

!'55"(&-/O5"

5,##1$23%"&)$0&1,7

G"2)2%,#)*-,*%-@

•$ :&,$4*'$+21E23*m#4d
•$ 6&1,$4*2<#,#)$h$4)*11$4*2<#,#)d
• 5#1.H1&%;*3+d

Diam. x length
CCDCCDGCB M10 x 71 mm
CCDCCDGGB M10 x 86 mm
CCDCCDGGE M10 x 126 mm
CCDCCDGFB M12 x 86 mm
CCDCCDGHB M12 x 106 mm
CCDCCDGEB M16 x 120 mm

TO#;*/&'(&-/O5"$

G&3%)#,#$23%"&)9$%&3-*-,*3+$&.$<&),2)$%2'-/1#$234$

"&,$4*'$+21E23*m#4$)&47

G"2)2%,#)*-,*%-@

•$ =&$')#H-,)#--$*3$%&3%)#,#d
• Very suitable for our floor mounted support
'&-,-d

5,2342)4$<&4#1

CCDCGDBCG$ VNC9$*3%17$%2'-/1#$`NO$23%"&)-a

CCDCGDBCK$ VNZ9$*3%17$%2'-/1#$`NO$23%"&)-a

*,#<H3&7

NN7NC7ONC

NN7NC7ONZ

,('#

V$NC

V$NZ

X$`<<a

UJ

UJ

0&)#$c

NS

NL

X$`<<a

NNO

NCJ

=<

YO

ZO

D1&&)$23%"&)Q3%"&)$)&49$-,2342)4

N
U
O

VNZ

VNC

N
Z
O

V&/3,*3+$%1*'

A

B

!")#24#4$-,)2' Q3+#1$-/''&),

G&33#%,*3+$'*#%#$.&)

?&&4#3$'2),-

YO$%<

CL$%<

CJ$%<

!H0&1,

5"&/14#)$)2*1$)2*-#)



accessories and fittings

t 00 31 512 - 36 91 60 !"# 00 31 512 - 36 42 44 internet: www.spinder.nl   e-mail: sales@spinder.nl

17
"

 

l,#<$3&7$ V&/3,*3+$%1*'$ $$Q$`<<a$ 6$`<<a$ $G$`<<a$ R$`<<a$ V2,#)*21$`<<a

04.18.010 Ø 34 mm 33,7  85  38 Ø 11 35 x 6

04.18.015 Ø 48 mm  48,3 100  51 Ø 11 35 x 6

04.18.020 Ø 60 mm  60,3 130  63 Ø 11 35 x 6

04.18.025 Ø 76 mm  76,1 130  78 Ø 11 35 x 6

04.18.030 Ø 89 mm  88,9 130  91 Ø 11 35 x 6

04.18.040 Ø 114 mm 114,3 175 115 Ø 11 35 x 6

04.18.050 Ø 102 mm 102 175 102 Ø 11 35 x 6

04.18.055 Ø 108 mm 108 175 109 Ø 11 35 x 6

04.18.225 Ø 125 mm 125 175 126 Ø 11 35 x 6

04.18.060 60 x 60 mm  60 130  60 Ø 11 35 x 6

04.18.080 80 x 80 mm  80 130  80 Ø 11 35 x 6

04.18.110 80 x 120 mm  80 130 120 Ø 11 35 x 6

04.18.140 80 x 140 mm  80 130 140 Ø 11 35 x 6

04.19.027 Ø 27 mm 27 65 30 Ø 11 30 x 5

04.19.070 Ø 70 mm 70 124 72 Ø 13 40 x 6

04.19.110 Ø 110 mm 110 154 110 Ø 11 30 x 5

04.19.121 Ø 121 mm 121 180 119 Ø 13 40 x 8

04.19.133 Ø 133 mm 133 204 138 Ø 17 50 x 10

04.19.139 Ø 139 mm 139 214 142 Ø 17 50 x 10

04.19.152 Ø 152 mm 152 208 155 Ø 13 40 x 6

04.19.160 Ø 160 mm 160 234 159 Ø 16 50 x 10

04.19.168 Ø 168 mm 168 236 170 Ø 17 50 x 10

04.19.177 Ø 177 mm 177 248 181 Ø 17 50 x 10

04.19.194 Ø 194 mm 194 268 198 Ø 17 50 x 10

04.19.200 Ø 200 mm 200 260 200 Ø 14 40 x 6

@

X

T
@

X

T

^

7 7




